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(hwqup guudhpny)
wyn pynid” (wybpugnudGhpnp Gpyjwo
% ala BymotinwyhG dSwjuutiph gnpownwlwl nuuwlwungiw % b6 ppulpul Gowlmy, ul
= =
? 5 'g 5 pwdhGGtph, fudptph L nuubtph, hGsybu Gub pymetanwhG g CGnushén Gywqbgnilng yunluqotpnis)
& 3 ) ¢ owfuutph mGmtuwghnwjwl nwuwjupqiwl hnpjwoGtph =2
wijwinditnp -l Jwnswlwe pynigt| PnGnwghG pymgh
1 21314 5 6 7 8 9
ocLUUGLL UL UGE 9,248,098.4 1,724,077.0 7,524,021.4
LUV ULNAM AULNR3EE LTLAUSRL
2100 9,696.6 6,381.6 3,315.0
01010 ouNU3Nre-3NFLLER
wyn pyntd’
OnpbGunhp L gnpownhp dwpdhG66p, whnwiwE junwyuwpm,
211001 1| 0| phliwmbumulul i hwphuwpjmobmuwhG hwpupbpmpyniGGap, 7,256.6 6,381.6 875.0
wmnuwphl hwpwpbpmpyn GGap
nphg’
2111{ 01 1| 1 [OntiGunhp L gnpownhp dwpdhGhbp,ynwljub junwjwpnod 7,256.6 6,381.6 875.0
wyn pyntd’
1. Gupwjupdul JwpdGh wwhuwGnig 7,256.6 6,381.6 875.0
- MupqlwwnpnuiGtip, nppudwywl fupwhuntundGhn b hwnnty 4112 5.687.6 5.687.6 )
Jdwpltp
- Uywhnjuqpujw owluubp 4215 469.0 469.0 -
-UtiptiiwGtph L vwppwynpnuiGtph pipwghy Gnpngnid L 4252 2250 2950 )
wwhujw lnid
-Uj dbiptiwGbp b vwppunpnudGlip 5129 875.0 - 875.0
LnhwGmp plGnyph hwpuihlG ownwympin GGaph qony
2150( 01 [ 5 | O (plnwgmunw iy L Guwhnuqdoughl wipfuunnw GpGhp 2,440.0 - 2,440.0
nphg’ - - -
Clnhwlnip pGnyyph hwlpwjhG ownwympyniGltph qony
21510151 htnmwgnuuiwi b Guwiuwqowihl wyluwnwGpGtip 2,440.0 ) 2,440.0
wyn pymd’ _ _ N
1. Vwuwqduyhl uwpfuwnwGpGbp 2,440.0 - 2,440.0
- Luwfuwgowhtimwgnunuub dwuutp 5134 2,440.0 - 2,440.0
2200/02|0|0 MUTSNULNMF3NFL 4,680.0 4,680.0 -
wyn pynud’ _ ~ B
2250] 02| 5 | 0| Nwpwmuyubnipym b (wy; nuwubphl sujunnljulng) 4,680.0 4,680.0 -
nphg" - - -
2251]02] 5| 1| Nuwynywlinipnil (wj nuubphl sywnfulng) 4,680.0 4,680.0 -
wyn pynud’ - - -
2. Uyptunpulpuyhl wofuunnuGpuyhl ownwynipjul
2. UyipnGunpulpuwihl wyfuuwnwpuihl ownwnipjul 4,680.0 4,680.0 _
wlwGugmy
- UnipupnhwGhip $hGwluuub ytnwlwb (hwiw)ipwjhb) 4512 4.680.0 4.680.0 )
JuqiwytpwnipniGGtphG
2400(04(0]0 SuLSEUULUL LULULGLNME3NFLLED 5,249,330.1 145,814.6 5,103,515.5
wyn pyntd’
2420l 041 2| 0 QmyunnGmbunipyni(, winwnwjhlG mGnbunipini (i, 46,699.3 ) 46,6993
dyGnpunipym G L npunpnpnipjnlG
nphg’ - - -
2424] 04| 2 | 4 [Anngnud 46,699.3 - 46,699.3
wyn pyntd’ - - -
1. Apnquwl gl wemgmy L ifhpuln 1y 46,699.3 - 46,699.3
- Cliiptiph L 2hGmpyniGGLph Yunnignud 5112 46,699.3 - 46,699.3
2450 04 | 5 | 0 | Spuwfuynpn 5,200,905.8 145,518.2 5,055,387.6
nphg’
2451{ 04| 5| 1 [SwGwwwphwjhG npwGuynpun 71,180.4 15,792.8 55,387.6

wyn pynid’




wyn pynid” (wybpugnudGhpp Gyyjwo
BymotinwyhG dSwjuutiph gnpownwlwl puuwlwungiw % b6 ppulpul Gowlmy, ul
g | el 5 nn 2 ,
] 5 pwdhGGtph, fudptph L nuutph, hGyubu Gub pymetanwjhG o Cqwiblp GyuqbgnidGhpp iulwqotpnug)
§ 3 E ¢ owfuutph wmGmtvwghnwliw nwuwjupqiwl hnpjwoGtph E-
wijwlmiitpp -l Junswlwe pynigt| PnGnught pynigh
1 21314 5 6 7 8 9
3. Gaqpnuipwpbph Yybpwlnpngnif 536.0 140.0 396.0
-Chiliptiph L YwnnyygGhph pGpughy Gnpngnid b wywhujwGnid 4251 140.0 140.0 -
- Chlptiph L 2hGmpymGGtph uwhunw) yepuwlinpngnud 5113 396.0 - 396.0
3. tinpmnl wlgniulGh wpnigmy L ybpuwln i) 12,088.5 12,088.5 -
-Chiliptiph L YwnnyygGhnh pGpwghy Gnpngnid b wwhujwGnid 4251 12,088.5 12,088.5 -
8. U Ghph L ngGh; Gpwlpunnigmy L
hhuiGudin ol 123.4 - 123.4
- Cliiptiph L 2hGmpjniGGtph Yunnignud 5112 123.4 - 123.4
12. Qupwlwl pwGhh wowjgmpudp hpuwlw G,
wnupwhl Gipwljunnigudoplbph L punu, wn G
wnquguwl Gk 1w ghé Spw wunyhpulud 1,692,576.1 1,692,576.1 B
JhwgnpmpimGGbnp)
-Uj owfuutip 4861 1,692,576.1 1,692,576.1 -
13. ®nnngGhph, hpwwwmulGhph L uijghll; whun/npmy 54,868.2 - 54,868.2
-Ujp dtiptiGwtp L uvwppwynpmuiGtp 5129 53,168.2 - 53,168.2
-Ujmptp L wuwpwqubbp 5221 1,700.0 - 1,700.0
14. Uuhwljub pwlyh wowlgnip wilju
wnuwpwihl Gipwljwnnigwdoplbph L punuw, wini G
wpquguwl Gh; rdurghli dpuwgph hudwljwpgmy L (1,690,212.9) (1,690,212.9) }
wmuwpmy (wwunjapwlpjwd (huqnpmpim 666,
-Uj1 owfuutip 4861 (1,690,212.9) (1,690,212.9) -
15. Uuhwljub pwlyh wowlgnip wljwlu,
wnwpwihl ipwljwnnigiwdoplbph L punuw, winil
wpqugtwl Ghpppnidwhb b wonh huulupgnud L L20L1 L2oL1 .
wmuuwpmy (wwunjapwlpjwd jhwqnpmpim 666,
-Uy1 dwluubp 4861 1,201.1 1,201.1 -
2455( 04| 5| 5 [fonnjuywpwnpujhG L wy npuGuwynpun 5,129,725.4 129,725.4 5,000,000.0
wyn pynud’
1. YbpbpulGph hhdGwGnpngnid 3,000,000.0 - 3,000,000.0
-Uj dbiptiwGbp b vwppunpnudGlip 5129 5,000,000.0 - 5,000,000.0
2. bplauGh dinpnynihnbGh wyfuwnwlpbh; wquwlbpunif 46,141.8 46,141.8 }
wnihpwlfwo jhwgnpnipim GGk,
-UnipuhnhwGtp ng phGwbGuwlul yhmwlywb (hwdw)lGpujhb) 4511 46,141.8 46,1418 )
JuquiwytpwnipniGGtphG
3. dbpglunGu Liblpnpunnpu Guwnpnm] niplomu wl 26,113.7 26,113.7 ;
Jwpwnipnil
-UnipuhnhwGtp ng $hGwbGuwlul yhnwuwb (hwdw)lipujht) 4511 26.113.7 26.113.7 )
JququiwbpynipniGGaphG
4. Ypwliwpmgwl L qupouigdw i typnupuiwl pwllih
wowlgnipjudp hmulwGu LwGh dbwn njhun b 6,087.5 6,087.5 _
Lpwljunnigdw b &, w unnyhpulpjuo
[nugnpmipimGGbp)
-Uyj1 dwluubp 4861 6,087.5 6,087.5 -
3. wlwl G 1wl pulyh wowlgnipuiy
wlGu, LwGh dbn njhnbGh Jepwljwnmguiw G 26,404.4 26,404.4 -
[y w wunfhinuljwé jhuwqnpoip ni GGG,
-Uj1 dwfuutip 4861 26,404.4 26,404.4 -
6. wipul dhmpjw hwplwlmpud Gb; 1w hi
. wowygnipjudp AmulwGu, L,
dbnpnynihinbGh Jhpulwnnigdwd b wnfuy inphuighG 24,978.0 24,978.0 }
w wnhpuwd jhwgnpnipin GGk
-Uj1 owfuutip 4861 24,978.0 24,978.0 -
2490] 04|90 StGmbuwluG hwpupbpmpym G6hp (wy nuubphl syunnlwlng) 1,725.0 296.4 1,428.6
nphg’
2491|0491 SGuntuwuwl hwpwptipmpiniGltp (wy nuutphG swywnlwbnn) 1,725.0 206 4 1.428.6

wyn pymd’




wyn pynid” (wybpugnudGhpp Gyyjwo
% = BymotinwyhG dSwjuutiph gnpownwlwl puuwlwungiw % b6 ppulpul Gowlmy, ul
el 5 g
] 5 pwdhGGtph, fudptph L nuutph, hGyubu Gub pymetanwjhG o Cqwiblp GyuqbgnidGhpp iulwqotpnug)
§ 3 E ¢ owfuutph wmGmtvwghnwliw nwuwjupqiwl hnpjwoGtph E-
wijwlmiitpp -l Junswlwe pynigt| PnGnught pynigh
1 2 (3[4 5 6 7 8 9
12, punnwyy (niomd wpuhw G Gpu upfuwnwuGp Gl 206.4 206.4 _
wlpwGuigniy
-Chiliptiph L YwnnyygGhph pGpughy Gnpngnid b wwhujwGnid 4251 296.4 296.4 -
13. Gplaul wpwlu PLL-h mwmudpmy hpLliwdh, w 1,428.6 ; 1,428.6
quwlunnbnh junnignid
- Chliptinh L 2hGnipymGGLph Junnignid 5112 1,428.6 - 1,428.6
2500|105(0(0 crUuUU Uh2UJU3,h MUCSNMULAME-3NRL 1,690,938.7 678,592.2 1,012,346.5
wyn pynid’
2510( 05| 1 | 0 |UnpwhwlGnif 488,013.7 186,663.6 301,350.1
nphg’
25111 05] 1 [ 1 [Unpwhw(nd 488,013.7 186,663.6 301,350.1
wyn pymd’
1. Unpwhwlmpim( b vwlmnwpwlwl swppmy 300,000.0 - 300,000.0
- SpwluwynpuwyhG uvwppwynpnidGtp 5121 300,000.0 300,000.0
3. dbpwliwpniguwl b qupquguiwl jnnwyuiwl puGhh
wowlgnipjwp AnwljwGuw, « Epliwlth hnow puwthniibph
jwnwjwpdwiy gpudwobnphuyhl Spwghp 91218 9121.8 }
wwnppwljyué jhugnpnipini ik
-Uj1 dwluubp 4861 9,121.8 9,121.8 -
4. wluwd 6 1w rhl puwllh wowlgnipun]
wilwGuw, «GpluuGh nyw punhnlGab; wrwijupdwliy 53,272.9 53,272.9 -
[1i1 winyhpuwlud hwqnpnipin GG
-Uj1 dwluubp 4861 53,272.9 53,272.9 -
3. wlpul dhnipjuG hwplwlmpjul G 1w hG
anpohph wowlgnipjuip ApwlpuGuging «GplauGh Ynywn
wihnGGEph umudupiuGy guuduwpGnphughG opuw 52,588.8 32,588.8 B
wwnhpwljwo jhwgnpnipni GGk
-Uj1 dwfuutip 4861 52,588.8 52,588.8 -
6. UplLbjjulG G wh FGhpquwfuGuwngnipywG L
GuuwhupwGulpu G Ghtpmpyul Hn wowljgmpjuil
wipw G, «GplauGh Gnpn punhnlih; wnwywpdw iy 13,147.2 13,147.2 B
wiwy GnphwjhG opu wunhpwljwd jhwignpnipin GG
-Uj1 dwluubp 4861 13,147.2 13,147.2 -
7. dbpuwlwnmguul L quipquigdwi bi wlwl pwl
wowljgnipjuwdp hpwlwGu «GplauGh Gnyw puthnGa; 53,272.9 53,272.9 -
wnuwifupfwl dpughpy (wuinjhpwipfiwd jhugnpmipm G666
-Uj1 dwluubp 4861 53,272.9 53,272.9 -
8. «Gplug, whwmpin G L vwlhnwpulpul dwippody
hwdw)lpwihl hhdGwnpih wwhupwGlwl dwfuubp 6,610.1 3,260.0 1,350.1
-CGnhwlnp pGnyph wy) SwnwympjniGGtp 4239 5,200.0 5,200.0 -
-UtiptiwGtph L uvwppuynpmuiGlnh pGpughy Gnpngnud L 4250 60.0 60.0 )
wwhwwinid
-N; GynpwlwG hhiGulwb shongGtp 5132 1,350.1 - 1,350.1
2520] 05 | 2 | 0 | Gbnunugpbph htnwgnul 246.4 - 246.4
nphg"
2521{ 05| 2 | 1 [Ytinunuweptiph htinwgnud 246.4 - 246.4
wyn pynid’
1. Zpnwhbmughwl §ndmGhljughnl guwlgh, wnnigniy 246.4 - 246.4
- Chliptinh L 2hGnipymGGLph Junnignid 5112 246.4 - 246.4
2560| 05| 6 | o | CrEwkw dhowdusph wuwpunywbnipiniG (wy; quiubphG 1,202,678.6 491,928.6 710,750.0
Syunlwing)
nphg’
25611 05| 6| 1 [CPewlw Shewdwph wwowuywlnipmG (wji puubtphd 1,202,678.6 491,928.6 710,750.0

swwnluing)




wyn pynid” (wybpugnudGhpp Gyyjwo
BymotinwyhG dSwjuutiph gnpownwlwl puuwlwungiw % b6 ppulpul Gowlmy, ul
g | el 5 nn 2 ,
] 5 pwdhGGph, ludpbph L nuiubph, hGsutu Gul pyogtmwjhG o Cnwikn GjuqbgnitGlpp yruluqdtpni)
§ 3 E ¢ owfuutph wmGmtvwghnwliw nwuwjupqiwl hnpjwoGtph E-
wijwlmiitpp -l Junswlwe pynigt| PnGnught pynigh
1 21314 5 6 7 8 9
wyn pynud’
1. YGwlws mwpwdplibph hhdGnid L upwhujuwGmd 710,750.0 - 710,750.0
- SpwluynpuwyhG vwppwynpnidGtp 5121 710,750.0 - 710,750.0
4. Puihun bGnwGhGh Guiuwigbponmy 85,000.0 85,000.0 -
-UnipuhnhwGbp ng-phGuwbGuuyub ytnwlwb (hwiw)GpwjhG) 4511 85.000.0 85.000.0 )
JuqiwytpuynipjmGGtphG
3. «Gpluwd, Jwppwijw, Shpulw duypupwnupwibph
hwfwgnpowgnipiniGp yunwGouiynp puhnlGh;
wmuupdw il wod, GnhwGnip dwpumwhpuybpGh, 406,928.6 406,928.6 B
nip9y wipfuwnnwplh; wljw Guwgnif
-Uj dwfuutip 4861 406,928.6 406,928.6 -
ALUyULULUSRL ChLULULNRME3NFL B
2600 33,4239 14,211.3 19,212.6
06010 UNUNKFLUL 0UNU3NRMe-3NFL ’ i ?
wyn pymd’
2640| 06 | 4 | 0| PonnglGbph (nruundnpnug 14,183.8 14,183.8 -
nphg’
2641| 06| 4 | 1 [PnnngGlph (nuwynpnud 14,183.8 14,183.8 -
wy pynud’
3. dhpwlpupmguub L qupquigiw i b wiljwl pwl
wowlgmpuyp hpwlwGu « Epliwh punwpuyhb
niuwynpnipjuiy gpudwsbnphuyhl Spw 28262 28262 )
wwnyhpwlywé jhwgnpnipmnt bk
-Uj1 owfuutip 4861 2,826.2 2,826.2 -
4. Ypwiwpmgiwl L qupouigdwl typnupuwiwl pwllih
wowlignipjui] wljwGuw «Gplwg wpwjhl 1,080.8 1,080.8 -
muwynpnippuly opu wnyhpuwljwd thwgnpnipnt GGk
-Uj1 owfuutip 4861 1,080.8 1,080.8 -
3. UpLbjjwiG & wjh LabpgufulGwnngmpnul L
GunywhwwGulpul Gl bpnip G wowlgnipjud]
wlpuGu, «GpluwGh punupwihG niuwynponipjuly 10,276.8 10,276.8
wduwyGnphuy G opuw wwnyhpulpjud
[hwgnpnipym GGlin)
-Uj1 owfuutip 4861 10,276.8 10,276.8 -
LlGwlwpwbuhl phGwpuwpmpyu L §ndnGuy
2660(06( 6|0 Swmuympym Gt (wy puubph syunbwénng) 19,240.1 27.5 19,212.6
nphg’
26611061611 Plwyupwlwjhl phGwpupnpjul L §ndniGu) SwnwnipymGGtp 19.240.1 275 19.212.6
(w)] nwubph@ swwnlwing)
wyn pymd’
1. PuquwpGulpupul pLGpbph hwpp wwGhpGaph _
bl it 27.5 27.5
-Chliptiph L YunnyygGhph pGpughy Gnpngnd b wwhuywGnid 4251 27.5 27.5 -
2. PuquwipGuiljwpwul b0ph; bp mwulhplh bGpuwn, iy 96.0 - 96.0
- Chlptinh L 2hGmpymGGtph fuwhumw) Ytpwlinpngnud 5113 96.0 - 96.0
3. PwljuhG mwpwopGhnh L fuwnwhpuwupuwnulGh;
hpuffwnpngmiy ni wuihuyw iy 17,4603 j 17,4603
- Cliiptiph L 2hGmpyniGGtph uwhumwy YtpwGnpngnud 5113 17,460.5 - 17,460.5
4. PuquwpGwlwpub 2LGph; wpbljupguwl w 1,587.1 : 1,587.1
upfuwmwbplbn
- Cliiptinh L 2hGmpyniGGtph uwhwumwy Ypwlnpngnud 5113 1,587.1 - 1,587.1
8. dpwpuijhl wuwinyquidpGtinh Gn, 117 69.0 - 69.0
- Chlptiph L 2hGnpymGGtph uwhunw) yepuwinpngnud 5113 69.0 - 69.0
2700(07(0]0 UNNAQUNMULNFO-3OMG 45,306.0 - 45,306.0
wyn pynud’ - - -
2760 07 | 6 | 0| Unnnowuyuwhnipym G (wj) nuubphl suyyunnijuting) 45,306.0 - 45,306.0
nphg’ - - -
2761{ 07| 6 | 1 |Unnnowuywhwlwl hwpwyhg ownwjnpyniGatp L opwqgptip 45,306.0 - 45,306.0
wyn pynid’ - - -
1. Upnpowuwwhwljub opjblinGhph hhdGwGnpngniy 306.0 - 306.0




wyn pynid” (wybpugnudGhpp Gyyjwo

% 2 |ef 5 BymotinwyhG dSwjuutiph gnpownwlwl puuwlwungiw % b6 ppulpul Gowlmy, ul
S 'g 3 pwdhGGtph, fudptnh L nuutph, hGywytu Gub pynetunwhG E CGnuthén Gyuqbgnilng yunluqotpnis)
E 3 5|¢"| owfuutiph wmGnbuwghnwlywl puuwjwpqinb hnpjweGhnh =
wijwlmiitpp -l Junswlwe pynigt| PnGnught pynigh
1 21314 5 6 7 8 9
- Chliptinh L 2hGmpymGGtph Juwhumw) Ypwinpngnud 5113 306.0 - 306.0
3. Upnnouywhwlwl juqiwlbpynpimG6hph hudwp gniyph
3 wwwhwlwl ququwlybpympmGGaph hujw, i 45,000.0 ; 45,000.0
dbnp phpniy
-Juwpswlwl vwppwynpnidGtip 5122 45,000.0 - 45,000.0
2800(08(0]0 <ULAhUS, UcUuNkr3e 64 urnu 404,316.1 31,794.0 372,522.1
wyn pymd’
2810( 08 | 1| 0 |[Smliquunp L uwnpunp ownuympymGhap 234,819.8 - 234,819.8
nphg’
2811|081 1| 1 |Rwlquunp L uwnpnh dwnwjnipmGhtp 234,819.8 - 234,819.8
wyn pynud’
2. wliqun wmhlbph L gpnuwjghll wnnignif nt 234,819.8 : 234,819.8
wwhwwlny
- Chliptinh L 2hGnipymGGLph Junnignid 5112 33,839.8 - 33,839.8
- Chliptiph L 2hGmpymGGtph uwyhunw) ypwinpngnud 5113 200,980.0 - 200,980.0
2820| 08 2 | 0| Vpwlnipwypl ownwynipym GGhp 169,496.3 31,794.0 137,702.3
nphg’
2821| 08 [ 2 | 2 |PwliqupuGbp L gnigwupwhGbp 7,127.4 7,127.4 -
wyn pymd’
1. Pwlqupubuyhl ownuwnipiniGGLp L gniguwhwnbulhn 7,127.4 7,127.4 -
-UnipuhnhwGtp ng-phGwlGuuub whnmwwb (hudw)lGpujht) 4511 71274 71274 )
JuquiwlbpynipnGGaphG
28241 08| 2 | 4 |Uj YpwynipwjhG YuqdwlbpynipjmGGatp 362.9 362.9 -
wyn pymad’
2. Yblnwlupwluiwi wignt gm 1p LG 362.9 362.9 -
-UnipuhnhwGtp ng-phlwbGuuwub whnmwyw (hudw)jGpujht) 4511 362.9 362.9 )
JququiwbpynipniGGGphG
2825|082 | 5 |Unybuwn 162,006.0 24,303.7 137,702.3
wyn pymd’
2. PwwmbpuwljuG Ghpljw nugnidGhn 24,303.7 24,303.7 -
-UnipuhnhwGtip ng-phGwbuuwub whnww (hudw)lGpujht) 4511 243037 24.303.7 )
JququiwbpynipniGGphG
3. PuwwnpnlGbph hhdGwlnpngnid 137,702.3 - 137,702.3
- Chliptph L 2hGnipyniGGtph uuwhnw) Yhpwlnpngnud 5113 137,702.3 - 137,702.3
2900(09(0]0 ypENrMF3NKFL 300,289.4 299,202.4 1,087.0
wyn pynud’
2910| 09 | 1 | o | U¥rwmAngwymG L vuppuilyul plghwlnp Gppnipjnd 145,851.3 145,851.3 -
nphg’
2911[09] 1| 1 [Lwiwnupngwlwi Yppnipjnii 36,450.0 36,450.0 -
wyn pynid’
1. bwhwnupngw w6 munignif 36,450.0 36,450.0 -
-UnipuhnhwGbp ng-phGuwGuuyub ytnwlwb (hwiw)Gpwjhb) 4511 36.450.0 36.450.0 )
JuqiwytpunpnmGGphG
2011 09| 1 | 2 [SwnnuwlwG pnhwGnp YppaepymG (uwnghputud 109,401.3 109,401.3 -
1hwgnpnipniGGtip)
wyn pynud’
1. QwlpumyppwilpuG niunigmy 109,401.3 109,401.3 -
-UnipuhnhwGtip ng-phGwlGuuwul whnwlw (huwdw)lpujhG) 4511 109.401.3 109.401.3 )
YuqiwytpynpjmGGphG
2920 09| 2 | 0| Upglulpupg plinhwGmp Yppmipyml 153,351.1 153,351.1 -
nphg’
2021[ 09| 2 | 1 |3P9GwlwG nGnhwlnip Yppnipym @ (yuinghpuilwo 138,349.1 138,349.1 ;
1hwgnpnipjniGGtip)
wyn pymad’
1. QuwipwppwipuG niunignid 138,349.1 138,349.1 -
-UnipuhnhwGtp ng-phlwbGuuwub whnwywb (hudw)jGpujht) 4511 138,349.1 138.349.1 )
JququiwbpynipniGGGphG
2922| 09| 2 | 2 |Uhetwlwng(inhy) plnhwnip Yppnipjnil (wuwunghpulywo 15.002.0 15.002.0 .

1hwgnpnipjniGGtin)




wyn pynid” (wybpugnudGhpp Gyyjwo
% = BymotinwyhG dSwjuutiph gnpownwlwl puuwlwungiw % b6 ppulpul Gowlmy, ul
el 5 )
] 5 pwdhGGph, ludpbph L nuiubph, hGsutu Gul pyogtmwjhG o Cnwikn GjuqbgnitGlpp yruluqdtpni)
§ 3 E ¢ owfuutph wmGmtvwghnwliw nwuwjupqiwl hnpjwoGtph E-
wijwlmiitpp -l Junswlwe pynigt| PnGnught pynigh
1 2 (34 5 6 7 8 9
wyn pynud’
1. wipwlppwlul mumgmy 15,002.0 15,002.0 -
-UnipuhnhwGbp ng-phGwbGuwul whmwlywl (hwdw)lpwjhb) 4511 15.002.0 15.002.0 )
JuquiwytpynipniGGtphG
2960|091 6 0 Uppmpjwlp mpudwnminng odwlnul owpwimpymGhp 1,087.0 ) 1,087.0
nphg’
2961{ 09| 6 | 1 |Uppnipjulp nmpudwnpynn odwlnuly dwnwjnipjmGhatp 1,087.0 - 1,087.0
wyn pynud’
1. bwpwpypngwiwl hwunwmnpym66bph hhdGwlnpngmy i
1. Luy, wlwl hwwnuwmnpimGGEph hhdGwGn, 1 L 1,087.0 : 1,087.0
ybpwGnpngniy
- Chiliptiph L phGnipyniGGtph Juwhwnwy yipuwinpngnud 5113 1,087.0 - 1,087.0
3000(10{0]|0 UNsShuLUuUL NMUCSNULNME3NFL 7,396.3 7,396.3 -
wyn pyntd’
3090/ 10/ 9 | 0 Unghuyuljul wuymwwimpymE (wj; puubphl sujunnljung) 73963 73963 )
nphg’
3092 | 101912 Unghwjuwl wuwwnwwlnipjulp mpudwnpynn odwlnuly 73963 73963 )
dwnwjmpniGGhp (w)p quubiphl sywwnlwng)
wyn pynid’
2. nipjuwl wuwhmjugnnipimG 7,396.3 7,396.3 -
- Uywhnjuqpujub dwfuutip 4215 7,396.3 7,396.3 -
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wyn pynud’
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nphg’
3112( 11 1] 2]<< hwiwyGpGtph ywwhniumwjhG $nbn 1,502,721.3 536,004.6 966,716.7
wyn pynid’
-NMuwhniunwjhG dhonghtp 4891 1,502,721.3 536,004.6 966,716.7






